This report contains the transfers results.

Contest Name

Kirkwall West and Orphir Ward

Valid Votes
1,447

Positions to be Filled
Quota

4
290

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Sandy COWIE		160
Barbara FOULKES		150
Barbara LESLIE	•	109
Alastair MACLEOD	Independent	39
Leslie MANSON	Independent	646
John RICHARDS	Orkney Manifesto Group	333
Max THOMAS	Independent	10
	Total	1,447

Candidate Leslie MANSON Elected with 646 votes, being in excess of the quota of 290 Candidate John RICHARDS Elected with 333 votes, being in excess of the quota of 290

This report contains the transfers results.

Stage 2 - Surplus of Leslie MANSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sandy COWIE	154	0.55108	84.86632
Transfer to Barbara FOULKES	193	0.55108	106.35844
Transfer to Barbara LESLIE	79	0.55108	43.53532
Transfer to Alastair MACLEOD	81	0.55108	44.63748
Transfer to Leslie MANSON	0	0.00000	0.00000
Transfer to John RICHARDS	0	0.00000	0.00000
Transfer to Max THOMAS	12	0.55108	6.61296
Value of non-transferable ballot papers			69.98948
	Total		356.00000

This report contains the transfers results.

Stage 3 - Surplus of John RICHARDS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sandy COWIE	85	0.12912	10.97520
Transfer to Barbara FOULKES	85	0.12912	10.97520
Transfer to Barbara LESLIE	47	0.12912	6.06864
Transfer to Alastair MACLEOD	34	0.12912	4.39008
Transfer to Leslie MANSON	0	0.00000	0.00000
Transfer to John RICHARDS	0	0.00000	0.00000
Transfer to Max THOMAS	9	0.12912	1.16208
Value of non-transferable ballot papers			9.42880
	Total		43.00000

This report contains the transfers results.

Stage 4 - Exclusion of Max THOMAS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sandy COWIE	2	0.12912	0.25824
Transfer to Sandy COWIE	2	0.55108	1.10216
Transfer to Barbara FOULKES	2	0.55108	1.10216
Transfer to Barbara FOULKES	1	1.00000	1.00000
Transfer to Barbara LESLIE	4	0.55108	2.20432
Transfer to Barbara LESLIE	1	1.00000	1.00000
Transfer to Alastair MACLEOD	4	0.12912	0.51648
Transfer to Alastair MACLEOD	2	0.55108	1.10216
Transfer to Alastair MACLEOD	4	1.00000	4.00000
Transfer to Leslie MANSON	0	0.00000	0.00000
Transfer to John RICHARDS	0	0.00000	0.00000
Value of non-transferable ballot papers			5.48952
	Total		17.77504

This report contains the transfers results.

Stage 5 - Exclusion of Alastair MACLEOD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sandy COWIE	11	0.12912	1.42032
Transfer to Sandy COWIE	17	0.55108	9.36836
Transfer to Sandy COWIE	15	1.00000	15.00000
Transfer to Barbara FOULKES	6	0.12912	0.77472
Transfer to Barbara FOULKES	20	0.55108	11.02160
Transfer to Barbara FOULKES	9	1.00000	9.00000
Transfer to Barbara LESLIE	5	0.12912	0.64560
Transfer to Barbara LESLIE	14	0.55108	7.71512
Transfer to Barbara LESLIE	7	1.00000	7.00000
Transfer to Leslie MANSON	0	0.00000	0.00000
Transfer to John RICHARDS	0	0.00000	0.00000
Transfer to Max THOMAS	0	0.00000	0.00000
Value of non-transferable ballot papers			31.70048
	Total		93.64620

Orkney Islands Council

Transfers Report

This report contains the transfers results.

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sandy COWIE	31	0.00010	0.00310
Transfer to Sandy COWIE	56	0.00044	0.02464
Transfer to Sandy COWIE	45	0.00079	0.03555
Transfer to Barbara FOULKES	0	0.00000	0.00000
Transfer to Barbara LESLIE	20	0.00010	0.00200
Transfer to Barbara LESLIE	46	0.00044	0.02024
Transfer to Barbara LESLIE	43	0.00079	0.03397
Transfer to Alastair MACLEOD	0	0.00000	0.00000
Transfer to Leslie MANSON	0	0.00000	0.00000
Transfer to John RICHARDS	0	0.00000	0.00000
Transfer to Max THOMAS	0	0.00000	0.00000
Value of non-transferable ballot papers			0.11262
	Total		0.23212

This report contains the transfers results.

Stage 7 - Exclusion of Barbara LESLIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sandy COWIE	12	0.00010	0.00120
Transfer to Sandy COWIE	20	0.00044	0.00880
Transfer to Sandy COWIE	22	0.00079	0.01738
Transfer to Sandy COWIE	16	0.12912	2.06592
Transfer to Sandy COWIE	38	0.55108	20.94104
Transfer to Sandy COWIE	50	1.00000	50.00000
Transfer to Barbara FOULKES	0	0.00000	0.00000
Transfer to Alastair MACLEOD	0	0.00000	0.00000
Transfer to Leslie MANSON	0	0.00000	0.00000
Transfer to John RICHARDS	0	0.00000	0.00000
Transfer to Max THOMAS	0	0.00000	0.00000
Value of non-transferable ballot papers			104.19087
	Total		177.22521